Second Paper : (1) Advanced Accountancy
Time : Three Hours Maximum Marks : 100
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1. What is meant by Departmental Accounts ? Discuss various problems
arising during the preparation of Departmental Accounts. - 3+13
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On April 1, 2015 tlDlaewasanupening stock at Bombay branch of Z 20,000
(invoice price). Dfifing the year goods costing T 45,000 were sent to
branch. On March 31, 2016 the branch reported that the cash sales during

the year amounted to ¥ 24,000 credit sales were of ¥ 27,500. Goods
invoiced at ¥ 600 were returned to head office and those invoiced at T 500

O
Q«

were lost in transit. The credit customers also returned goods sent to them
for ¥ 900. Record these transactions in the ledger of head office according
to stock and debtors method. The goods are invoiced to branch by adding
to cost 25% profit on selling price.
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(a) Fixed income investments and fluctuating income investrments
{b) Fixed investments and curfent or temporary investments.  10+10
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The Mining Company has taken a lease of coal mine from Atul for a
period of 9 years on January 1, 2013, The royalty is payable @ T 10 per
ton of coal raised with a dead rent of T 75,000 per year. The excess paid
over actual royalty in any year can be recouped out of the arising in
immediately succeeding year only. In the event of a strike actual royahy.
if less than minimum rent, will discharge all rental obligations.
Actual owlput ;
Years 2014 2015 2016 [Strike Year)
Qutput (tons) 4,000 G000 - 6,000
Prepare necessary ledzer accounts in the books of the Mining Company
assuming that payment is made on 31st March of the fellowing yeai
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3. Expiam_thc accounting characteristics of goodwill. What factors should
be kept in mind at the time of valuation of goodwill ? Discuss the various
methods of valuing goodwill. 6+7+7
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As at 31st March, 2016 the balances of X Ltd. are as follows -
31 T, 2016 1 UaY fafiee & frefafaaon ¥ .

Partuculars 4
L Equity and Liabilities :

10,000 equity shares of ¥ 100 each fully paid 10.00,000
Surplus in Statement of Profit & Loss 3,56,000
Bank Overdraft 40,000
Sundry Creditors o 1,54.000
Provision for Taxation 90. 50

16,40,000

IL Assets:

Land & Buildings 4,400,000
Plant & Machinery 1,50,000
Stock in Trade 7,00,000
Sundry Debtors 3,10,000

16,40.,000

The net profits of the company, after providing for depreciation and
taxation were as follows : '

2011-12—= 70,000, 2012-13-—1,92,000; 2013-14—F 1,80,000: 2014-
15— 2.00,000 and 2015-16—3% 1,90,000.

On 31st March, 2016 Land and Buildings were valued at T 5,00,000 and
Plant and Machinery at ¥ 3,00.000.

In view of the nature of business, 10% on closing capital employed is
considered a reasonable return in this company.

Find out the value of equity share on net assets basis. The goodwill may
be taken at five years’ purchase of the super-profits.
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2011-12—= 70,000; 2012-13—1,92,000; 2013-14—F 1,80.000: 2014-
15— 2,00,000 and 2015-16—% 1,90.000. |
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4. What is meant by internal reconstruction ? Give conditions when internal

reconstruction becomes desirable.

8+12

i EHET & 0 e ¥ 2 39 oRiREl 5 soEe s A

AT Fierd B S g
: ’ Or

¥ Lid. and Y Lud. are engaged in the soap making activities. To get the

benefits of large scale production economics, X Ltd. decided the

amalgamation of Y Ltd. from the effective date st April, 2016.
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Balance sheet as at 31st March, 2016
Partuculars X Ltd. YLtd.
4 g
1. Equity and Liabilities :
{1) Shareholders’ Fund :
(a) Share Capital : :
Issued Share capital 6,00,000| 3,00,000
(b) Reserve and Surplus
Secunty Premium 2,00,000 10,000
Development Rebate Reserve 50,000 2,000
Export Incentive Reserve 1,00,000 1,000
General Reserve 4,00,000 6,000
Statement of Profit & Loss 1.50,000 1,000
{2) Non-current liabilities :
Long-term borrowing : Secured Loan 2,00,000 —
{3) Current Liabilities o 3,00,000} 2,00,000
Total |20,00,000| 5,20,000
T T
Il Assets:
(1) Non-Current Assets :
{a) Fixed Assets :
{i) Tangible :
Land & Building £.00,0001 1,00,000
Plant & Machinery 5,00,000¢ 1,350,000
(2) Current Assets : —? ~2 L . ‘
{a) Inventories : Stock j 2,00,000 1 2,40,600
{b) Trade Receivable : Debtors 4.00,0001 20,000
{¢) Cash and Cash Equivalent : Cash at Bank| 1,00,000] 10,000
Total [20,00,000] 5,20,000




1he scheme of amalgamation provides :
(i}  All shareholders of the transfer company Y Ltd. will get one equity

share of the transferee company X Ltd. at par i.e. ¥ 10 for one equity
share.

(ir) All the Assets and Liabilities of the transferor company will be
acquired by the transferee company from the effective date at their
book values.

Pass the Journal entries at the time of amalgamation in the books of X
Ltd. and Y Lid. Also give the Balance Sheet after amalgamation.
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UNIT-V/e=E-V
- Describe the Double Account System and comment on its usefulness and
applicability. 8+12
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B Limited went into voluntary l'iquidation-. The details regarding
liquidation are as follows :
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Share Capital :
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(1) 4,000 8% Preference shares of T 100 each (fully paid-up)
(2} Class A 4,000 Equity shares of ¥ 100 each (% 75 paid-up)
(3) Class B 3,200 Equity shares of ¥ 100 each ( 60 paid-up)
(4) Class C 28,000 Equity shares of T 10 each (¥ 5 paid-up)

Assets including machinery realised ¥ 8,40,000. Liquidation expenses
including remuneration of liquidator amounted to ¥ 30,000. The company
hies borrowed a loan of ¥ 1,00,000 from Patil Brothers against the mortgage
of machinery (which realised T 1.61,000). In the books of the company
salaries of eight clerks for four months at a rate of T 300 per month and
salaries of eight peons for three months at a rate of ¥ 150 per month, are
outstanding. In addition to this, the company’s books shown the creditors
worth ¥ 1,74,800. Prepare liquidator’s statement of receipt and payments.
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